Math 151 Sec FO7TNQ3 - Test 2
Oct 26 2007

Question 1:

(a)[5 points] Solve for w:
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ZoHw= 3 of  2-(lw="3
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(b)[5 points] Solve for z and state your answer using interval notation:
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Question 2:

(a}[5 points] Find both (i) the distance and (if) midpoint between the points A{—1,4) and

B(3.-1).
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(b){5 points] The point (a,a) is a distance 5 units from the point (3, —4). Find all possible valucs

of a.
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Question 3:

(a)[5 points] Complete the square and state the centre and radius of the following circle:

g+ y? -8z 4 10y +37=0
le‘?’x -en*gz'ﬂo»&, +3+ =0
(‘x-q)?luo + (,ws*)?l,zs* +3F =0

(X-"'"‘!)l+(\é_+s")1=: 4

S Centre (‘-{;‘S‘)‘) racius = Z

1 -1
(b)[5 points] Give the equation of the circle with centre ( — ) that passes through the point
(2.5)
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Question 4: This question concerns the equation z = 2y% — 18,

(a)[4 points] Find the x and y intercepts of the graph of the equation.

x—-interc,ep‘t'- q4- Lw“tevce,p't :
x= 2(0) -8 o= ay-ig
x= ~L¥ 2‘31_: 7
?"32
S (-17,0) 9"
¥ = 33

(b){6 points] Determine if the graph of the cquation possesses symmetry with respect to the
r-axis, the y-axis, or the origin.
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Question 5:
(a)[5 points] Find the zeros of f(z) = 2(x — 3)% — 4.
2(x-3)-4 =0
Z(X*g)za 4
&-N* =2
x-3 = J2' J27

x = 3+§2' 3.0

(b)[5 points] Sketch the graph of f(z) = 2{(x — 3)? — 4 by applying transformations to one of the
basic functions we saw in class. Show at least one point on your final graph, and also indicate
the scale on the z and y axes.
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